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                                                               yi(t) = f(ai(t)) 

ai(t) =  ∑ xi *Wi

 

-

 

Θi

 

Θi 

X1*W1

 

xi*Wi

X2*W2

 



Grupos  Geología  Red  

1  34  32  

2  39  32  

3  108  117  

 

Gru
pos

 

Ecuación
 A= c* T + b

 

Muestras 
Numero

 

R
 

1
 

A =0.972 T +0.017
 

34
 

0.988
 

2
 

A =0.979 T +0.0208
 

39
 

0.991
 

3

 
A =0.776 T +0.302

 
108

 
0.881

 
total

 

A= 0.8497 T +0.172

 

181

 

0.92

 



Grupos
 

Error
 

Máximo
 Error

 

Mínimo
 σ Error

 

1
 

0.0813
 

-0.0881
 

0.01312
 

2
 

0.0788
 

-0.1007
 

0.0317
 

3
 

0.4567
 

-0.788
 

0.1332
 

Total
 

0.457
 

-0.44
 

0.1416
 

Grupos  
Ecuación

 A= c* T + b
 

Muestras
 Numero

 

R  

1  A =0.959 T  +0.0241  32  0.981  

2  A =0.967 T  +0.0269  32  0.992  

3  A =0.843 T  +0.21  117  0.918  



  
 

 
 

Grupos Error
Máximo

Error
Mínimo

σ Error

 

1

 

0.0879

 

-0.0826

 

0.0315

 

2

 

0.0906

 

-0. 0643

 

0.0274

 

3

 

0.4609

 
-0.4502

 

0.1134

 




